
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

REAL NUMBERS

Exercise 2 1

1. Which arrow best shows the position of  on

the number line ?

Watch Video Solution

11

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vo6DGCg2YK0n


2. Find any three rational numbers between 

and 

Watch Video Solution

−7
11

2

11

3. Find any five rational numbers between  and 

Watch Video Solution

1

4
1

5

https://dl.doubtnut.com/l/_vo6DGCg2YK0n
https://dl.doubtnut.com/l/_Iv993E34raRx
https://dl.doubtnut.com/l/_3bkistOWAC9e


Exercise 2 2

4. Find any five rational numbers between 0.1 and

0.11

Watch Video Solution

5. Find any five rational numbers between -1 and

-2

Watch Video Solution

https://dl.doubtnut.com/l/_nGJxJs5OzUfv
https://dl.doubtnut.com/l/_EEBQE9jvYg1G


1. Express the following rational numbers into

decimal and state the kind of decimal expansion. 

Watch Video Solution

2

7

2. Express the following rational numbers into

decimal and state the kind of decimal expansion. 

Watch Video Solution

−5
3

11

https://dl.doubtnut.com/l/_kQ6dGH7W7okx
https://dl.doubtnut.com/l/_8ZmpwOV4SNNG


3. Express the following rational numbers into

decimal and state the kind of decimal expansion. 

Watch Video Solution

22

3

4. Express the following rational numbers into

decimal and state the kind of decimal expansion. 

Watch Video Solution

327
200

https://dl.doubtnut.com/l/_mbByVgpjMa1m
https://dl.doubtnut.com/l/_JEOVq2n3IxoF


5. Express  in decimal form . Find the length of

the period of decimals .

Watch Video Solution

1

13

6. Express the rational number  in recurring

decimal form by using the recurring decimal

expansion of . Hence write  in recurring

decimal form.

Watch Video Solution

1

33

1

11
71
33

https://dl.doubtnut.com/l/_kj7IjPdJxybh
https://dl.doubtnut.com/l/_AOGP5GZLN8BH


7. Express the following decimal expression into

rational numbers. 

Watch Video Solution

0. ¯̄̄¯24

8. Express the following decimal expression into

rational numbers. 

Watch Video Solution

2. ¯̄̄ ¯̄¯327

https://dl.doubtnut.com/l/_DZtohlIyUKde
https://dl.doubtnut.com/l/_WeOIj7lSYbZ9


9. Express the following decimal expression into

rational numbers. 

-5.132

Watch Video Solution

10. Express the following decimal expression into

rational numbers. 

Watch Video Solution

3.17̄

https://dl.doubtnut.com/l/_iFudgsIHPwaN
https://dl.doubtnut.com/l/_BG2tEHRDdJtp


11. Express the following decimal expression into

rational numbers. 

Watch Video Solution

17. ¯̄̄ ¯̄¯215

12. Express the following decimal expression into

rational numbers. 

-21.2137

Watch Video Solution

https://dl.doubtnut.com/l/_PuCzgK74QIRt
https://dl.doubtnut.com/l/_ReZjH5jok4Ds


13. Without actual division , find which of the

following rational numbers have terminating

decimal expansion. 

Watch Video Solution

7
128

14. Without actual division , find which of the

following rational numbers have terminating

decimal expansion. 

Watch Video Solution

21

15

https://dl.doubtnut.com/l/_ccTRphiXqoUM
https://dl.doubtnut.com/l/_t0rqO47gASld


15. Without actual division , find which of the

following rational numbers have terminating

decimal expansion. 

Watch Video Solution

4
9

35

16. Without actual division , find which of the

following rational numbers have terminating

decimal expansion. 

219

2200

https://dl.doubtnut.com/l/_t0rqO47gASld
https://dl.doubtnut.com/l/_RF4Vj2r7Z07h
https://dl.doubtnut.com/l/_JsQdxmqkGcqP


Exercise 2 3

Watch Video Solution

1. Represent the following irrational numbers on

the number line. 

Watch Video Solution

√3

2. Represent the following irrational numbers on

the number line. 

https://dl.doubtnut.com/l/_JsQdxmqkGcqP
https://dl.doubtnut.com/l/_oLg7hV0Ia9RQ
https://dl.doubtnut.com/l/_Jijbnx0HCctB


Watch Video Solution

√4.7

3. Represent the following irrational numbers on

the number line. 

Watch Video Solution

√6.5

4. Find any two irrational numbers between

0.3010011000111….and 0.3020020002…..

Watch Video Solution

https://dl.doubtnut.com/l/_Jijbnx0HCctB
https://dl.doubtnut.com/l/_JNgv1jaO92RH
https://dl.doubtnut.com/l/_W9Gs2gjA6VDj


Watch Video Solution

5. Find any two irrational numbers between 

and 

Watch Video Solution

6

7
12

13

6. Find any two irrational numbers between 

and 

Watch Video Solution

√2

√3

https://dl.doubtnut.com/l/_W9Gs2gjA6VDj
https://dl.doubtnut.com/l/_h5Nt8vioGt0p
https://dl.doubtnut.com/l/_iW6RWqrZbJwe


Exercise 2 4

7. Find any two rational numbers between

2.2360679…..and 2.236505500….

Watch Video Solution

1. Represent the following numbers on the

number line. 

5.348

Watch Video Solution

https://dl.doubtnut.com/l/_CZyLN52cfcqj
https://dl.doubtnut.com/l/_icE8XtWCbQoF


2. Represent the following numbers on the

number line. 

 upto 3 decimal places.

Watch Video Solution

6. 4̄

3. Represent the following numbers on the

number line. 

 upto 4 decimal places.

Watch Video Solution

4. ¯̄̄¯73

https://dl.doubtnut.com/l/_Quaa0Elx0n9s
https://dl.doubtnut.com/l/_lZueTUVsEIHf


Exercise 2 5

1. Write the following in the form of  : 


625

Watch Video Solution

5n

2. Write the following in the form of  : 


Watch Video Solution

5n

1

5

https://dl.doubtnut.com/l/_1EMjrESEG2iB
https://dl.doubtnut.com/l/_TFrLsNhuRafN


3. Write the following in the form of  : 


Watch Video Solution

5n

√5

4. Write the following in the form of  : 


Watch Video Solution

5n

√125

5. Write the following in the form of  : 


16

4n

https://dl.doubtnut.com/l/_38liXrZdzM8F
https://dl.doubtnut.com/l/_ejX7YdM5I5if
https://dl.doubtnut.com/l/_2RyAZ4ivhhWF


Watch Video Solution

6. Write the following in the form of  : 


8

Watch Video Solution

4n

7. Write the following in the form of  : 


32

Watch Video Solution

4n

https://dl.doubtnut.com/l/_2RyAZ4ivhhWF
https://dl.doubtnut.com/l/_n2H5ymFZ4irY
https://dl.doubtnut.com/l/_sf9T5m4tf4fi


8. Find the value of 

Watch Video Solution

(49)
1
2

9. Find the value of 

Watch Video Solution

(243)
2
5

10. Find the value of 

Watch Video Solution

9
− 3
2

https://dl.doubtnut.com/l/_YtG1mTvdrw7l
https://dl.doubtnut.com/l/_yKwI2ezPI0zz
https://dl.doubtnut.com/l/_F6Zf5xGUxAJ3
https://dl.doubtnut.com/l/_BbAEP47PafSb


11. Find the value of 

Watch Video Solution

( )
64
125

− 2

3

12. Use a fractional index to write : 

Watch Video Solution

√5

13. Use a fractional index to write : 

Watch Video Solution

2√7

https://dl.doubtnut.com/l/_BbAEP47PafSb
https://dl.doubtnut.com/l/_GuQwvaUxhT7V
https://dl.doubtnut.com/l/_NHWUZ5jQpDjA


14. Use a fractional index to write : 

Watch Video Solution

( 3√49)
5

15. Use a fractional index to write : 

Watch Video Solution

( )

7
1

3√100

16. Find the  root of 32

Watch Video Solution

5th

https://dl.doubtnut.com/l/_N0n9ZpXs9Jmt
https://dl.doubtnut.com/l/_WwgHQlBxHcxS
https://dl.doubtnut.com/l/_BrYcPAXqymZa
https://dl.doubtnut.com/l/_4pw3WGPXNG9V


17. Find the  root of 243

Watch Video Solution

5th

18. Find the  root of 100000

Watch Video Solution

5th

19. Find the  root of 

Watch Video Solution

5th 1024

3125

https://dl.doubtnut.com/l/_4pw3WGPXNG9V
https://dl.doubtnut.com/l/_RCCO5AlQxnhu
https://dl.doubtnut.com/l/_ayvOQAxC6asA


Exercise 2 6

1. Simplify the following using addition and

subtraction properties of surds : 

Watch Video Solution

5√3 + 18√3 − 2√3

2. Simplify the following using addition and

subtraction properties of surds : 

Watch Video Solution

4 3√5 + 2 3√5 − 3 3√5

https://dl.doubtnut.com/l/_5AVZx9v9OpPZ
https://dl.doubtnut.com/l/_vaIkFhaDZOIz


3. Simplify the following using addition and

subtraction properties of surds : 

Watch Video Solution

3√75 + 5√48 − √243

4. Simplify the following using addition and

subtraction properties of surds : 

Watch Video Solution

5 3√40 + 2 3√625 − 3 3√320

https://dl.doubtnut.com/l/_vaIkFhaDZOIz
https://dl.doubtnut.com/l/_ZZlZdMV9sUWW
https://dl.doubtnut.com/l/_CPSvXB9ha5fX
https://dl.doubtnut.com/l/_SN9V8rf17AzQ


5. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

√3 × √5 × √2

6. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

√35 + √7

https://dl.doubtnut.com/l/_SN9V8rf17AzQ
https://dl.doubtnut.com/l/_ckEkh5n4MLUD


7. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

3√27 × 3√8 × 3√125

8. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

(7√a − 5√b)(7√a + 5√b)

https://dl.doubtnut.com/l/_HiAi75w42aMG
https://dl.doubtnut.com/l/_ZxzRhJNmat0m


9. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

√ − √225
729

25
144

√ 16
81

10. If

, then find the values of the following correct to 3

places of decimals . 

√2 = 1.414, √3 = 1.732, √5 = 2.236, √10 = 3.162

√40 − √20

https://dl.doubtnut.com/l/_MxupBGrcRruW
https://dl.doubtnut.com/l/_T6caC9eX1M8N


Watch Video Solution

11. If

, then find the values of the following correct to 3

places of decimals . 

Watch Video Solution

√2 = 1.414, √3 = 1.732, √5 = 2.236, √10 = 3.162

√300 + √90 − √8

12. Arrange surds in descending order : 

h id l i

3√5, 9√4, 6√3

https://dl.doubtnut.com/l/_T6caC9eX1M8N
https://dl.doubtnut.com/l/_KOk8NwvjylPW
https://dl.doubtnut.com/l/_ZSBUFxuAzyeX


Watch Video Solution

13. Arrange surds in descending order : 

Watch Video Solution

2√ 3√5, 3√ 4√7, √√3

14. Can you get a pure surd when you find the

sum of two surds 

Justify each answer with an example

Watch Video Solution

https://dl.doubtnut.com/l/_ZSBUFxuAzyeX
https://dl.doubtnut.com/l/_FX4TUoMLeVv5
https://dl.doubtnut.com/l/_XrkKGaGn8MyU
https://dl.doubtnut.com/l/_KCbOvqic4aWF


15. Can you get a pure surd when you find the

difference of two surds 

Justify each answer with an example

Watch Video Solution

16. Can you get a pure surd when you find the

product of two surds 

Justify each answer with an example

Watch Video Solution

https://dl.doubtnut.com/l/_KCbOvqic4aWF
https://dl.doubtnut.com/l/_1YwNYRReUBok


17. Can you get a pure surd when you find the

quotient of two surds 

Justify each answer with an example

Watch Video Solution

18. Can you get a rational number when you

compute the sum of two surds 

Justify each answer with an example

Watch Video Solution

https://dl.doubtnut.com/l/_LW5ZdFVjKmQn
https://dl.doubtnut.com/l/_FYFwTCtxz8NG


19. Can you get a rational number when you

compute the difference of two surds. 

Justify each answer with an example

Watch Video Solution

20. Can you get a rational number when you

compute the product of two surds 

Justify each answer with an example

Watch Video Solution

https://dl.doubtnut.com/l/_A5ipxe2cndD8
https://dl.doubtnut.com/l/_Qa7AlLVjRVT8


Exercise 2 7

21. Can you get a rational number when you

compute the quotient of two surds 

Justify each answer with an example

Watch Video Solution

1. Rationalise the denominator 

Watch Video Solution

1

√50

https://dl.doubtnut.com/l/_Im510wTXJkeK
https://dl.doubtnut.com/l/_sWet1O2S67CT


2. Rationalise the denominator 

Watch Video Solution

5

3√5

3. Rationalise the denominator 

Watch Video Solution

√75

√18

https://dl.doubtnut.com/l/_AYPDI8EsQxaS
https://dl.doubtnut.com/l/_76ULYwpQw4Eh


4. Rationalise the denominator 

3(sqrt5)/sqrt6`

Watch Video Solution

5. Rationalise the denominator and simplify 

Watch Video Solution

√48 + √32

√27 − √18

https://dl.doubtnut.com/l/_96NjkXqmdCTe
https://dl.doubtnut.com/l/_95E90jKP8C1J


6. Rationalise the denominator and simplify 

Watch Video Solution

5√3 + √2

√3 + √2

7. Rationalise the denominator and simplify 

Watch Video Solution

2√6 − √5

3√5 − 2√6

https://dl.doubtnut.com/l/_93PjBOJkVQLM
https://dl.doubtnut.com/l/_pYlQI3ivPq3I


8. Rationalise the denominator and simplify 

Watch Video Solution

−
√5

√6 + 2

√5

√6 − 2

9. Find the value of a and b if

Watch Video Solution

= a√7 + b
√7 − 2

√7 + 2

https://dl.doubtnut.com/l/_XsLqJuNVWl0s
https://dl.doubtnut.com/l/_JFOnqUn4drZm


Exercise 2 8

10. If  , then find the value of 

Watch Video Solution

x = √5 + 2

x2 +
1

x2

11. Given =1.414, find the value of  ( to

3 places of decimals ).

Watch Video Solution

√2
8 − 5√2

3 − 2√2

https://dl.doubtnut.com/l/_dSTjXriWrMsr
https://dl.doubtnut.com/l/_rxItia8EYBuK
https://dl.doubtnut.com/l/_Ny87oUEH0iQR


1. Represent the following numbers in the

scientific notation : 

569430000000

Watch Video Solution

2. Represent the following numbers in the

scientific notation : 

2000.57

Watch Video Solution

https://dl.doubtnut.com/l/_Ny87oUEH0iQR
https://dl.doubtnut.com/l/_7TQQCnyHu1T0


3. Represent the following numbers in the

scientific notation : 

0.0000006000

Watch Video Solution

4. Represent the following numbers in the

scientific notation : 

0.0009000002

Watch Video Solution

https://dl.doubtnut.com/l/_02BVaYz1qVwQ
https://dl.doubtnut.com/l/_IrwHWN2rWpe4


5. Write the following numbers in decimal form : 

Watch Video Solution

3.459 × 106

6. Write the following numbers in decimal form : 

Watch Video Solution

5.678 × 104

7. Write the following numbers in decimal form : 

1.00005 × 10− 5

https://dl.doubtnut.com/l/_lQEYvmJoCVsX
https://dl.doubtnut.com/l/_8HrEVkYKRW7i
https://dl.doubtnut.com/l/_31EsCFP2gUQM


Watch Video Solution

8. Write the following numbers in decimal form : 

Watch Video Solution

2.530009 × 10− 7

9. Write the following numbers in scientific

notation : 

Watch Video Solution

(300000)2 × (20000)4

https://dl.doubtnut.com/l/_31EsCFP2gUQM
https://dl.doubtnut.com/l/_AjLv7Osv7fuJ
https://dl.doubtnut.com/l/_tJaAMSzjeqF0


10. Write the following numbers in scientific

notation : 

Watch Video Solution

(0.000001)
11

(0.005)
3

11. Write the following numbers in scientific

notation : 

Watch Video Solution

(0.00003)6 × (0.00005)4

(0.009)
3

× (0.05)
2

https://dl.doubtnut.com/l/_DtwL2eB3AuuX
https://dl.doubtnut.com/l/_UXJKcThRXkDH
https://dl.doubtnut.com/l/_CDpdQtCALB8V


12. Represent the following information in

scientific notation : 

The world population is nearly 7000,000,000.

Watch Video Solution

13. Represent the following information in

scientific notation : 

One light year means the distance

9460528400000000 km.

Watch Video Solution

https://dl.doubtnut.com/l/_CDpdQtCALB8V
https://dl.doubtnut.com/l/_bYERgjaHDDXS
https://dl.doubtnut.com/l/_U8DQZ2RdtlkK


14. Represent the following information in

scientific notation : 

Mass of an electron is 0.000 000 000 000 000

000 000 000 000 00091093822 kg.

Watch Video Solution

15. Simplify : 

Watch Video Solution

(2.75 × 107) + (1.23 × 108)

https://dl.doubtnut.com/l/_U8DQZ2RdtlkK
https://dl.doubtnut.com/l/_Fk2CbQ7CYXLU


16. Simplify : 

Watch Video Solution

(1.598 × 1017) − (4.58 × 1015)

17. Simplify : 

Watch Video Solution

(1.02 × 1010) × (1.20 × 10− 3)

18. Simplify : 

(8.41 × 104) ÷ (4.3 × 105)

https://dl.doubtnut.com/l/_haHgIP0MVPJc
https://dl.doubtnut.com/l/_AhXfqqxqpLnZ
https://dl.doubtnut.com/l/_hw9Wkeb7GFAv


Exercise 2 9

Watch Video Solution

1. If n is a natural number then  is

A. always a natural number

B. always an irrational number.

C. always a rational number

D. may be rational or irrational .

Answer: D

√n

https://dl.doubtnut.com/l/_hw9Wkeb7GFAv
https://dl.doubtnut.com/l/_3xliToC6UZAw


Watch Video Solution

2. Which of the following is not true ?

A. Every rational number is a real number.

B. Every integer is a rational number.

C. Every real number is an irrational number.

D. Every natural number is whole number.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3xliToC6UZAw
https://dl.doubtnut.com/l/_BIrOU4tkyhYH
https://dl.doubtnut.com/l/_BwUeWpz5TAzV


3. Which one of the following , regarding sum of

two irrational number , is true ?

A. always an irrational number

B. may be a rational or irrational number

C. always a rational number

D. always an integer.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BwUeWpz5TAzV


4. Which one of the following has a terminating

decimal expansion ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5

64

8

9

14
15

1

12

https://dl.doubtnut.com/l/_Ttj2mb1vb3Tu


5. Which one of the following is an irrational

number ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√25

√9

4

7
11

π

https://dl.doubtnut.com/l/_5e3EQgAh05cx


6. An irrational number between 2 and 2.5 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√11

√5

√2.5

√8

https://dl.doubtnut.com/l/_JQeNEgaIJu6H


7. The smallest rational number by which 

should be multiplied so that its decimal

expansion terminates after one place of decimal

is

A. 

B. 

C. 3

D. 30

Answer: C

Watch Video Solution

1

3

1

10

3

10

https://dl.doubtnut.com/l/_rQZ4FgkXsXN9


8. if  then the value of  is

A. 

B. 

C. 

D. 0.714285

Answer: B

Watch Video Solution

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
1

7

5

7

0. ¯̄¯̄¯̄¯̄¯̄¯̄142857

0. ¯̄¯̄¯̄¯̄¯̄¯̄714285

0. ¯̄¯̄¯̄¯̄¯̄¯̄571428

https://dl.doubtnut.com/l/_rQZ4FgkXsXN9
https://dl.doubtnut.com/l/_eKacCXTKmGkJ


9. Find the odd one out of the following

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√32 × √2

√27

√3

√72 × √8

√54

√18

10. 0. ¯̄̄¯34 + 0.34̄ =

https://dl.doubtnut.com/l/_mBS6cEepBuBo
https://dl.doubtnut.com/l/_gv4OW2lMmljG


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.6̄ ¯̄̄87

0. ¯̄̄¯68

0.68̄

0.687̄

11. Which of the followig statement is false ?

A. The square root of 25 is 5 or -5

https://dl.doubtnut.com/l/_gv4OW2lMmljG
https://dl.doubtnut.com/l/_7k9SszXlgAYz


B. 

C. 

D. 

Answer: D

Watch Video Solution

√25 = 5

−√25 = − 5

√25 = ± 5

12. Which one of the following is not a rational

number ?

A. 

B. 

√
8

18

7
3

https://dl.doubtnut.com/l/_7k9SszXlgAYz
https://dl.doubtnut.com/l/_6VLWoKJkGpIU


C. 

D. 

Answer: D

Watch Video Solution

√0.01

√13

13. =

A. 

B. 

C. 

√27 + √12

√39

5√6

5√3

https://dl.doubtnut.com/l/_6VLWoKJkGpIU
https://dl.doubtnut.com/l/_xs8EfxUKhMgh


D. 

Answer: C

Watch Video Solution

3√5

14. If  then k=

A. 2

B. 4

C. 8

D. 16

√80 = k√5

https://dl.doubtnut.com/l/_xs8EfxUKhMgh
https://dl.doubtnut.com/l/_5a35M7eFn5Tb


Answer: B

Watch Video Solution

15. =

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

4√7 × 2√3

6√10

8√21

8√10

6√21

https://dl.doubtnut.com/l/_5a35M7eFn5Tb
https://dl.doubtnut.com/l/_XDLmBnD3t3vj


Watch Video Solution

16. When written with a rational denominator, the

expression  can be simplified as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2√3

3√2

√2

3

√3
2

√6

3

2

3

https://dl.doubtnut.com/l/_XDLmBnD3t3vj
https://dl.doubtnut.com/l/_JROvFxy7lijM


17. When  is simplified , we get

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2√5 − √2)
2

4√5 + 2√2

22 − 4√10

8 − 4√10

2√10 − 2

18. =_____(0.000729) × (0.09)
− 3
4

− 3
4

https://dl.doubtnut.com/l/_GQOOanyRrFsQ
https://dl.doubtnut.com/l/_3HZUmhJl0pze


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

103

33

105

35

102

32

106

36

19. If  then ………………

A. 

√9x =
3√92 x =

2

3

https://dl.doubtnut.com/l/_3HZUmhJl0pze
https://dl.doubtnut.com/l/_mJCv9heN3t4w


B. 

C. 

D. 

Answer: B

Watch Video Solution

4
3

1

3

5

3

20. The length of breadth of a rectangular plot

are  and  metres respectively. Its

area is _____

A. 

5 × 105 4 × 104

9 × 101m2

https://dl.doubtnut.com/l/_mJCv9heN3t4w
https://dl.doubtnut.com/l/_J6yPUNMEQmsr


Additional Questions And Answers

B. 

C. 

D. 

Answer: C

Watch Video Solution

9 × 109m2

2 × 1010m2

20 × 1020m2

1. Find out two rational numbers between  and 
1

4
3

4

https://dl.doubtnut.com/l/_J6yPUNMEQmsr
https://dl.doubtnut.com/l/_m7emokTwqOJT


Watch Video Solution

2. Is zero a rational numbers ? Give reasons for

you answer .

Watch Video Solution

3. Express the following decimal expansion is the

form  , where p and q are integers and  . 

0.75

Watch Video Solution

p

q
q ≠ 0

https://dl.doubtnut.com/l/_m7emokTwqOJT
https://dl.doubtnut.com/l/_eg5azs2PLyp7
https://dl.doubtnut.com/l/_5lXkBMGUL63U
https://dl.doubtnut.com/l/_LiLW5l7XBocu


4. Express the following decimal expansion is the

form  , where p and q are integers and  . 

0.625

Watch Video Solution

p

q
q ≠ 0

5. Express the following decimal expansion is the

form  , where p and q are integers and  . 

0.5625

Watch Video Solution

p

q
q ≠ 0

https://dl.doubtnut.com/l/_LiLW5l7XBocu
https://dl.doubtnut.com/l/_fP5IZ5aGABkm


6. Express the following decimal expansion is the

form  , where p and q are integers and  . 

0.28

Watch Video Solution

p

q
q ≠ 0

7. Convert  to a rational number.

Watch Video Solution

¯̄̄ ¯̄0.9

8. Classify the following number as rational or

irrational . 

https://dl.doubtnut.com/l/_ZmcEJN51cC5d
https://dl.doubtnut.com/l/_RnOVcJJNsdJF
https://dl.doubtnut.com/l/_3NlMhsCyXPFP


Watch Video Solution

√11

9. Classify the following number as rational or

irrational . 

Watch Video Solution

√81

10. Classify the following number as rational or

irrational . 

0.0625

https://dl.doubtnut.com/l/_3NlMhsCyXPFP
https://dl.doubtnut.com/l/_mOpLrmHjmxYN
https://dl.doubtnut.com/l/_dAYWAzO1vLaY


Watch Video Solution

11. Classify the following number as rational or

irrational . 

Watch Video Solution

0.83̄

12. Find the decimal expansion of 

Watch Video Solution

√3

https://dl.doubtnut.com/l/_dAYWAzO1vLaY
https://dl.doubtnut.com/l/_fRW8tV9s6Rwf
https://dl.doubtnut.com/l/_DUOSEnN1O4Wk


13. Find any 4 irrational numbers between  and 

Watch Video Solution

1

4
1

3

14. Visualise  on the number line , upto 4

decimal places.

Watch Video Solution

6.73̄

15. Find whether x and y are rational or irrational

in the following: 

https://dl.doubtnut.com/l/_SGIv59py9a4q
https://dl.doubtnut.com/l/_6nEaVOkyfuuR
https://dl.doubtnut.com/l/_n7RJ1iqVjJpF


(i)  


Watch Video Solution

a = 2 + √3, b = 2 − √3,

x = a + b, y = a − b

16. Find whether x and y are rational or irrational

in the following: 

(ii)  


Watch Video Solution

a = √2 + 7, b = √2 − 7

x = a + b, y = a − b

17. Evaluate : 10− 4

https://dl.doubtnut.com/l/_n7RJ1iqVjJpF
https://dl.doubtnut.com/l/_N8IM8nmbPlPV
https://dl.doubtnut.com/l/_HfCLZTVqmHuc


Watch Video Solution

18. Evaluate : 

Watch Video Solution

( )
− 3

1

9

19. Evaluate : 

Watch Video Solution

(0.01)
− 2

20. Find the value of  :

h id l i

625
3
4

https://dl.doubtnut.com/l/_HfCLZTVqmHuc
https://dl.doubtnut.com/l/_Rf3xhbz0681h
https://dl.doubtnut.com/l/_Hn961mvMOJsI
https://dl.doubtnut.com/l/_XICeYCdjNJdV


Watch Video Solution

21. Find the value of 

Watch Video Solution

729
− 5

6

22. Use a fractional index to write : 

Watch Video Solution

(5√125)
7

23. Use a fractional index to write : 

Watch Video Solution

3√7

https://dl.doubtnut.com/l/_XICeYCdjNJdV
https://dl.doubtnut.com/l/_bPu6eGl8ayHf
https://dl.doubtnut.com/l/_4EDbzWmJtUYb
https://dl.doubtnut.com/l/_LbsTv43Z0Zps


24. Can you reduce the following numbers to

surds of same order . 

Watch Video Solution

√5

25. Can you reduce the following numbers to

surds of same order . 

Watch Video Solution

3√5

https://dl.doubtnut.com/l/_LbsTv43Z0Zps
https://dl.doubtnut.com/l/_NgYWQi1NQsRr
https://dl.doubtnut.com/l/_RrdNIDPNIJmP
https://dl.doubtnut.com/l/_HqtP8cCqSt0y


26. Can you reduce the following numbers to

surds of same order . 

Watch Video Solution

4√5

27. Express the surds in the simplest form 

Watch Video Solution

√27

https://dl.doubtnut.com/l/_HqtP8cCqSt0y
https://dl.doubtnut.com/l/_e6FaaK7kphwT


28. Express the surds in the simplest form 

Watch Video Solution

3√128

29. Show that 

Watch Video Solution

3√2 > 5√3

30. Express the following surds in its simplest

form 

Watch Video Solution

4√324

https://dl.doubtnut.com/l/_5EeiGq6YU0m9
https://dl.doubtnut.com/l/_wsT0k86npNxE
https://dl.doubtnut.com/l/_KTWGmvjtgX4N


31. Simplify 

Watch Video Solution

√63 − √175 + √28

32. Arrange in ascending order : 

Watch Video Solution

3√2, 2√4, 4√3

33. Subtract  from  .Is the answer

rational or irrational ?

W h Vid S l i

6√7 9√7

https://dl.doubtnut.com/l/_KTWGmvjtgX4N
https://dl.doubtnut.com/l/_rluZSZpVxRXs
https://dl.doubtnut.com/l/_Li5oh2Ug7DPa
https://dl.doubtnut.com/l/_iuMntAZLxuQg


Watch Video Solution

34. Simplify : 

Watch Video Solution

√44 + √99 − √275

35. Compute and give the answer in the simplest

form : 

Watch Video Solution

3√162 × 7√50 × 6√98

36. Write the scientific notation (60000000)4

https://dl.doubtnut.com/l/_iuMntAZLxuQg
https://dl.doubtnut.com/l/_ECbmt2RufCDm
https://dl.doubtnut.com/l/_SsOGEtmXreG5
https://dl.doubtnut.com/l/_UpSjlbtJO3HS


Watch Video Solution

37. Write the scientific notation : 

Watch Video Solution

(0.00000004)3

38. Write the scientific notation :

Watch Video Solution

(500000)2 × (3000)3

https://dl.doubtnut.com/l/_UpSjlbtJO3HS
https://dl.doubtnut.com/l/_44mfR5uUpNFP
https://dl.doubtnut.com/l/_zFE7wdaEx2vm


39. Write the scientific notation :

Watch Video Solution

(6000000)3 ÷ (0.00003)2

40. A number having non-terminating and

recurring decimal expansion is

A. an integer

B. a rational number

C. an irrational number

D. a whole number

https://dl.doubtnut.com/l/_k6XpxLwApJwx
https://dl.doubtnut.com/l/_fObdEtGUCv07


Answer: 2

Watch Video Solution

41. If a number has a non-terminating and non-

recurring decimal expansion , then it is

A. a rational number

B. a natural number

C. an irrational number

D. an integer

Answer: 3

https://dl.doubtnut.com/l/_fObdEtGUCv07
https://dl.doubtnut.com/l/_E6Khsu37Rh3i


Watch Video Solution

42. Decimal form of  is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

−3

4

−0.75

−0.50

−0.25

−0.125

https://dl.doubtnut.com/l/_E6Khsu37Rh3i
https://dl.doubtnut.com/l/_g3yP0OfCu8h3
https://dl.doubtnut.com/l/_rv9OlP4Ewg0e


43. Which one of the following has a terminating

decimal expansion ?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

5

32

7
9

8

15

1

12

https://dl.doubtnut.com/l/_rv9OlP4Ewg0e


44. Which one of the following is an irrational

number ?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

π

√9

1

4

1

5

https://dl.doubtnut.com/l/_XAkBxuvVgb1w


45. Which one of the following are irrational

numbers ? 

(i)  , (ii)  , (iii)  , (iv) 

A. (ii),(iii), and (iv)

B. (i) , (ii) and (iv)

C. (i),(ii) and (iii)

D. (i),(iii) and (iv)

Answer: 4

Watch Video Solution

√2 + √3 √4 + √25 3√5 + √7

√8 − 3√8

https://dl.doubtnut.com/l/_sWm1WSbTcnKE


46. Which of the following is not an irrational

number ?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

√2

√5

√3

√25

https://dl.doubtnut.com/l/_sWm1WSbTcnKE
https://dl.doubtnut.com/l/_T4Ob7Jocdx1K
https://dl.doubtnut.com/l/_UHbfIhZy3pJ5


47. In simple form ,  is ?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

3√54

3 3√2

3√27

3√2

√3

48. 3√192 + 3√24

https://dl.doubtnut.com/l/_UHbfIhZy3pJ5
https://dl.doubtnut.com/l/_cVIiyTgsie7V


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

3 3√6

6 3√3

3√216

6√216

49. 

A. 

5√21 × 6√10

30√210

https://dl.doubtnut.com/l/_cVIiyTgsie7V
https://dl.doubtnut.com/l/_rK6FM4ETOdBo


Unit Test

B. 

C. 

D. 

Answer: 1

Watch Video Solution

30

√210

210√30

1. Which one of the following , regarding sum of

two irrational number , is true ?

https://dl.doubtnut.com/l/_rK6FM4ETOdBo
https://dl.doubtnut.com/l/_BIN2t2NfHoNi


A. always an irrational number

B. may be a rational or irrational number

C. always a rational number

D. always an integer.

Answer: 2

Watch Video Solution

2. Which one of the following is an irrational

number ?

A. √25

https://dl.doubtnut.com/l/_BIN2t2NfHoNi
https://dl.doubtnut.com/l/_3CCTMnw3Id7E


B. 

C. 

D. 

Answer: 1

Watch Video Solution

√
9

4

7
11

π

3. if  then the value of  is

A. 

B. 

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
1

7

5

7

0. ¯̄¯̄¯̄¯̄¯̄¯̄142857

0. ¯̄¯̄¯̄¯̄¯̄¯̄714285

https://dl.doubtnut.com/l/_3CCTMnw3Id7E
https://dl.doubtnut.com/l/_XMo8ECfir0mw


C. 

D. 0.714285

Answer: 2

Watch Video Solution

0. ¯̄¯̄¯̄¯̄¯̄¯̄571428

4. When written with a rational denominator, the

expression  can be simplified as

A. 

B. 

2√3

3√2

√2

3

√3
2

https://dl.doubtnut.com/l/_XMo8ECfir0mw
https://dl.doubtnut.com/l/_11829lxi9GfX


C. 

D. 

Answer: 3

Watch Video Solution

√6

3

2

3

5. If  then ………………

A. 

B. 

C. 

√9x =
3√92 x =

2

3

4
3

1

3

https://dl.doubtnut.com/l/_11829lxi9GfX
https://dl.doubtnut.com/l/_vxC8OCSMIhk2


D. 

Answer: 2

Watch Video Solution

5

3

6. Simplify the following using addition and

subtraction properties of surds : 

Watch Video Solution

5√3 + 18√3 − 2√3

https://dl.doubtnut.com/l/_vxC8OCSMIhk2
https://dl.doubtnut.com/l/_hsGBEQ3nW1Kb


7. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

√3 × √5 × √2

8. Find any two irrational number between  and

Watch Video Solution

6

7
12

13

9. Find the value of (49)
1
2

https://dl.doubtnut.com/l/_mbFBi5yOZ2K9
https://dl.doubtnut.com/l/_s4W4342q1QOk
https://dl.doubtnut.com/l/_zEg2ySwZf09g


Watch Video Solution

10. Find the value of 

Watch Video Solution

(243)2 / 5

11. Without actual division , find which of the

following rational numbers have terminating

decimal expansion. 

Watch Video Solution

7
128

https://dl.doubtnut.com/l/_zEg2ySwZf09g
https://dl.doubtnut.com/l/_pXwxwHpil4zk
https://dl.doubtnut.com/l/_lre9LJdYjuaY


12. Which arrow best shows the position of 

on the number line ?

Watch Video Solution

11

3

13. Express the following decimal expression into

rational numbers. 

Watch Video Solution

2. ¯̄̄ ¯̄¯327

https://dl.doubtnut.com/l/_V0ubUfNZ4TdX
https://dl.doubtnut.com/l/_txxiug1DbWhf


14. Find any five rational numbers between 

and 

Watch Video Solution

1

4
1

5

15. Find any five rational numbers between 0.1

and 0.11

Watch Video Solution

16. Represent  irrational numbers on the

number line.

√3

https://dl.doubtnut.com/l/_0LZVNpFGEmZ2
https://dl.doubtnut.com/l/_iB7gdXftrquw
https://dl.doubtnut.com/l/_Qd1kf1pv9Mxa


Watch Video Solution

17. Represent the following numbers on the

number line. 

 upto 4 decimal places.

Watch Video Solution

4. ¯̄̄¯73

18. Arrange surds in descending order : 

Watch Video Solution

3√5, 9√4, 6√3

https://dl.doubtnut.com/l/_Qd1kf1pv9Mxa
https://dl.doubtnut.com/l/_aU7RfTaADlza
https://dl.doubtnut.com/l/_rM5Ji0Bufs8t


19. Arrange surds in descending order : 

Watch Video Solution

2√ 3√5, 3√ 4√7, √√3

https://dl.doubtnut.com/l/_jlnVWDTLCvmT

